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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

Write your Question Paper Code No. 67/TUS/2, Set [A] on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :

oA

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.

333/TUS/120 AR AAARERDN-  2ro.



| 3R -

1.

2.

Tltegreff Te-T % UEel I8 W ST STRAT ey forE)

T TRA-TF o SA19 o foh THA-T o HA Y81 qUT TAT ! a1 & & g FIa1 wom I8 o qad
SR T B 38 1a h A= ft A 6 v wires w9 F

IR-YfEaert § ygaH-Tag s sryan ffdy womi & sifafes w2 ot s forgs @ adaneff s
I SETAT SR

I IT-YFEdehT W I -TF HT I Fo 67/TUS/2, T [A], fod|
() G-I shaol fa=<l/3msh & 21 fbe oft, ofe 39 =@ @ f= & 72 foreht we s H s @
aﬁ%

st T, 3q, U, ST, e, AT, %A, dalt], TUe!, 3(eaT, TS, ik,
Hiorgdt, St JaTelt, HHR, Twha o e

FHUT IT-f&Tent § feu U atem § ford fop a1 forg wwn & 3w fow w 2

(@) afe 3 fa=dt wa ssht & Srfafes forelt 3t v o 3o forad &, @ Il 61 gmgH | gF areft
Ffet /reAfet 6t et haer smeht gt

333/TUS/120 2 ARV



ENVIRONMENTAL SCIENCE
( Theory )
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(333)

Time : 3 Hours | [ Maximum Marks : 80

g ;3 =l | [ quris : 80

Note : (i)

(i1)

(iii)

(iv)

(vi)

(vii)

(viii)

(ix)

All 39 questions are compulsory. Maximum mark of each question has
been indicated against it.

There will be internal choice in some questions for core and optional
modules related questions. Attempt only one part of these questions
having internal choice.

Answer the questions from either Optional Module—8A or Optional
Module—S8B only.

Questions from 1 to 16 (13 Core Modules and 3 Optional Modules) are
Objective Question Type—I questions (MCQs) carrying I mark each.

Questions from 17 to 24 (5 Core Modules and 3 Optional Modules) are
Objective Question Type—II questions (comprehensive questions with
two subparts, VSA, I word, fill in the blanks and True/False) carrying
1 mark each.

Questions from 25 to 32 are Short Answer-type Questions from Core
Modules carrying 2 marks each with 40-50 words.

Questions from 33 and 34 are Long Answer Type—I questions from Core
Modules carrying 4 marks each with 80-100 words.

Questions from 35 and 36 are Long Answer Type—II questions from
Core Modules carrying 5 marks each with 100-150 words.

Questions from 37 to 39 are Short Answer-Type questions from Optional
Modules carrying 2 marks each with 40-50 words.
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few: (i) @l 39 vy sAfER 21 & v * fean 3t 3Tk T feu U E)
(i) HfZH 9 Ibfcus Hice & o IW ¥ ials fawer feu 7w &) 30 5 w g=
& &
(ii) SepfcTs AeTT—8A IR Ihfcus Hie—8B ¥ ¥ Trelt T & W & =
(iv) S 1 ¥ 16 (13 iz Aleed 3R 3 dehfcds Wiged) TS T JHR—I (MCQ)
T & 3N 1 IF F E
(v) TR 17 ¥ 24 (5 Hfge Afeyd 3N 3 dhfoush Wisd) TS T FHR—II T
(forqa w3 &1 3UWFT Hfgd, A0 aY W, Th g, b ©IH W 3R T8l //ed) 1
3 h B
(vi) T 25 ¥ 32 oY I T T S High Aleyed ¥ fow M F I 2 3w F 7 IR
h IW 40 ¥ 50 WG ¥ T
(vi) I 33 3 34 A IW THR—I T & S Hfgsh Al A forw 7w &1 3 4 36
% § 3 Fh IW 80 ¥ 100 wisgi H ¢
(viii) ¥ 35 3 36 dH IW THR—II T & S Higeh Hied & folg 7 &1 3 5 37k
% ¢ 3 3k IW 100 ¥ 150 W= | <
(ix) Y 37 ¥ 39 g W Y & S debfoush Hisel & fofw mu &) I 2 3 & § 3N
T IW 40 ¥ 50 Wgl H I
(1) Answers of all questions are to be given in the Answer-Book given to you. A
aft Tl % I el & g IW-Yeden H & ford
(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3G YH-TF I U & fow 15 fame &1 gy fear wen B wea-ue w1 faaer Qe #
2:15 &1 foham STl 2:15 &1 & 2:30 &9 doh BT had IH-TF i Tel R 37 &y
% GUF o IW-YREGHT W HI5 W g @
CORE MODULES
g wiem
OBJECTIVE QUESTIONS TYPE-I

TEME T TR

1. (i) According to an archeological study, foragers lived in/under

(A) huge canopies of trees

(B) temporary oval hut like shelters
(C) large houses made of mud
(D) permanent built-in houses 1
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UATcIeh AP % IR, W @i 9l &d o
(A) gai <t §Et foam % =
(B) 3Rl SR UL S I H
(C) Wt ¥ &+ &g =W H
(D) 9% & WMl H
Or / 374l
(i) Draught animals are
(A) animals living in wild
(B) animals used to carry goods
(C) animals that provide food

(D) animals that provide safety and security
WRATESH 9] B @

(A) ST ST # @

(B) S &g 3o &

(C) S @M1 ed &

(D) S T&T YEgH Hd 7

2. The correct order of evolutionary stages of human species is
(A) Homo habilis, Homo sapiens, Homo erectus
(B) Homo sapiens, Homo erectus, Homo habilis
(C) Homo habilis, Homo erectus, Homo sapiens

(D) Homo erectus, Homo Habilis, Homo sapiens 1
A Sfd 1 e stewensti 1 @&l %A @

(A) g gfaford, g Afwr, gHl sty

(B) &Ml @fter=q, gl §ided, gl sfeferd

(C) &mi Bfsfera, gl FFed, gHl dfTH

(D) &Ml iFeH, gl gfsford, gl dfvE=
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3. () The factors leading to rise in population are
[. increase in food production

II. treatment of diseases
III. pollution of natural bodies

IV. depleting natural resources

Select the correct answer :

(A) T and II (B) 1II and III

(C) T and IV (D) II and IV 1

SHEEAT §64 % N @

I. @ el % 3 | g
II. T S S

II. Wiehfdeh Bl <1 YgyUl

IV. SThfdeh TEeH o1 3™

F@Wﬁﬂ'ﬁm:
(A) I 3 II (B) II 3R III
(C) I 3 IV (D) II 3f IV

Or / FYdl

(ii) The impact of population growth on environment is
(A) conservation of water resources
(B) decreased fossil fuel consumption
(C) pollution of rivers and other water bodies

(D) decreased soil pollution

SEE gfg 1 T | g aren gWe @
(A) ST THTEAT T TIEIT

(B) Sfamem el it wedt =i

(C) e T 3T AT H1 TGu0l

(D) FCT T Hedl gy
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4. Speciation is a process by which
(A) adaptation of species occurs
(B) new species are formed
(C) variation of species takes place

(D) dying out of species occurs 1

TS 3ad U Wik B faEes g
(A) Efsfis 1 3FgReH B ]
(B) T wfisfisl et @

(C) wisfis  faforerar st 2

(D) =it 6t gy & e B

5. (i) Steppes is a

(A) tropical forest (B) desert
(C) grassland (D) temperate forest 1
i 7
(A) IWTHfCEL I (B) HEEIWA
(C) I 1 HeH (D) St ==
Or / 372l

(i) Animal found in tundra region is
(A) rabbit (B) reindeer
(C) goat (D) bear
3 & U I A S 8
(A) T (B) smafm
(C) == (D) W]
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6. () An example of littoral forest ecosystem is
(A) mangroves (B) islands

(C) estuaries (D) deltas 1

qeadt =1 it 1 T I B

(A) HoE (B) €
(C) SaTeHd (D) e
Or / FYdr

(i) Which one of the following is not an example of ecotone?

(A) Grassland (B) Estuary
(C) Riverbank (D) Pond
7 o @ 1 sHieH H1 ITE AG 27

(A) ©TE T HAgH (B) SORACHE
(C) 9dl @2 (D) A

7. Primitive humans decided to lead a settled life as they
(A) felt the need for shelter and security
(B) were increased in numbers
(C) found that the food was insufficient through agriculture

(D) were tired of moving around 1

anfg e 3 wrlt Sfea faam 6t @=h, w=aifs
(A) 3= 3T IR & h EwIHhdT HeHH T3
(B) 9 & § §g T ¥

(C) @t ¥ WTH @Ml J&d & &9 Al

(D) ¥ ¥Ad gL U T &
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8. (i) Slums are
(A) planned part of villages
(B) planned area of cities
(C) clusters of huts or homes in parts of cities
(D) clusters of huts or homes in villages 1
(A) T & et &=
(B) W&t & faifsa &=
(C) W&t ¥ Siivei = =i *1 TH He
(D) 7ia T USH A1 T H TH IS
Or / 3Ydal
(i) Difficulty faced by migrants in urban life is
(A) inadequate hygiene and sanitation conditions
(B) poor means of transport and communication

(C) poor educational facilities for children

(D) lack of job opportunities

gt Sfied | Rt it wfes ®

(A) AITH wesar 3R @ fagm 6 feft
(B) ufterg qem T=R & = @ed

(C) =it & fou e w o fen gloamd

(D) USTR o AGER sl Sl
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9. Providing habitat for various organisms is
(A) productive function of forests
(B) protective function of forests
(C) regulative function of forests

(D) both productive and regulative functions of forests 1

fafter et =t vt < 2

(A) oI T 3IcdTEH B

(B) =i W1 1wk il

(C) =1 *1 Frames HE

(D) ot w1 3cdTesh Td fames gl it

10. Hereditary diseases are due to
(A) only genetic influences on health
(B) only behavioural influences on health
(C) only environmental influences on health

(D) both behavioural as well as environmental influences on health 1

It Sffm /T Bt @

(A) Had S & WA W YAE & BRI

(B) hadl WA W TGRS YT &% HRU

(C) had TR W YAV JUTd & HROT

(D) TERT W HAEEING 3 e gl JoTel o R

11. Global warming is due to
(A) depletion of ozone layer
(B) loss of biodiversity
(C) greenhouse effect

(D) dumping of hazardous waste 1
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AfTerh ST h1 BT B

(A) ST Wa st

(B) “a fafqear 1 Jepam
(C) &R & W=

(D) @A RS &1 fuem

12. Which of the following is not a non-conventional source of energy? 1
(A) Geothermal power (B) Compressed natural gas
(C) Energy from biomass (D) Hydel power

frm o ¥ wH-u urEfes F9i w1 9@ @ 8

(A) AT ot (B) wdifsd wrepfaes T4
(C) SEE™ ¥ YT SHolt (D) S Sl

13. () The cropping practice in which different plants maturing at different
times are planted together, is known as

(A) polyculture (B) crop rotation
(C) multicropping (D) polyvarietal cultivation 1

g HY el few faftm ave #e § ufus g9 T faftm R & aiad 6
THATY g3 h It 2, HEA B

(A) SERH (B) ®UAT T =shIehIul
(C) Tufsra woer I (D) UicioRTged Hiy
Or / FYdar

(i) Sustainable agriculture is one that
(A) supports loss of production
(B) uses natural resources in an inefficient manner
(C) protects environmental imbalance

(D) will last for generations to come
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ST Sy 98 7 S

(A) BIHRE IcATCHAT T THIT Ll 8

(B) WTehfeieh TUST 1 FIAdh T Hidl 2
(C) EfaRor FTEJEM 1 EEU HA g

(D) s wret difedi & s w o @l

OPTIONAL MODULE—S8A
Iepfoqs ATs@—8A
( Water Resource Management )
(ST TEeE vaeH )

14. () In large cities and towns, groundwater is not fit for drinking, because
(A) it contains microbes

(B) it contains high concentration of dissolved minerals
(C) it contains large amount of suspended particles

(D) it is coloured 1
a3 wiE s AR 6 e € e wd A 3, it

(A) 3T Sy B9 #

(B) z&d tfues oo # gemshia @i g @

(C) s&d s wrn o Freifea 3w g @

(D) @& T grar 2

Or / 3Yai

(ii) The easiest method to remove large suspended impurities from water
is

(A) sedimentation (B) coagulation

(C) microstraining (D) chlorination
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I § w2 Fifad el ol ger &1 q98 @a e @
INEEELI (B) Thed

(C) TSI (D) TR

15. (1) Some parts of India suffer from severe water scarcity due to
(A) lack of sufficient rainfall in the country

(B) uneven distribution of rainfall in the country
(C) poor agricultural practices in the country

(D) droughts in the country 1
WA % P AT H Sl <l e et R, sEeR BRU B
(A) &1 ¥ yafg out o
(B) < | 9l 1 AN ferawor
(©) & & 1 Ffy wgfoat
(D) < & F@r
Or / 37%aT
(i) Tanks, ponds, check dams are structures used to
(A) store rainwater (B) recharge groundwater
(C) treat surface water (D) disinfect surface water
(A) a9I-SeT & F=IT & foQ (B) oI % A0 o ferw
(C) Tadl I 6 awg & oty (D) TaEl I & HICURENE & forg

AR AAARERDN-  2ro.
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16. () The attributes of groundwater are

I. it is sustainable

II. it is easily contaminated
III. it is less polluted
IV. it has a low vulnerability to drought

Select the correct answer :

(A) 1, II and III (B) I, III and IV

(C) 11, III and IV (D) L II and IV 1

Yl 61 feriard @

. o8 a8

II. 98 @M & Hshitd & Sl @

1. I8 %7 Jgfta 2

IV. 38 g@ ¥ %A @au g

T IW H FHT

(A) 1, II 3R I (B) I, III 3R IV

(C) 11, III 3R IV (D) I, II 3R IV
Or / 3AYdTr

(ii) Some techniques of groundwater management and conservation are
I. artificial recharge

II. percolation tank construction
ITII. catchment area protection

IV. check bund construction

Select the correct answer :

(A) I and II (B) II and III

(C) III and IV (D) T and IV
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AFTd 9 o TEYH 3R & H FY bl &
1. HbEm g
II. T9HA & 1m0

1. S8 & T
IV. 9% &Y 1 4H|i0

Hﬁwﬁgﬁq:
(A) 1 3T 11 (B) 1I 3R III
(C) I 3R IV (D) 13RIV

OPTIONAL MODULE—8B
Jepfeqes Uis[ci—8B

( Energy and Environment )

(St aT veRuT )

14. (1) Direct use of solar energy is in

(A) wind mills (B) photosynthesis in plants

(C) photovoltaic cells (D) tidal power plants 1

TIH WX HSAl H1 I R S Ehar @
(A) vae dfea | (B) Wl % JhRI-TIANT H
(C) Bl dai H (D) SO Set e H

Or / FYar

(ii) Alternative source of energy is

(A) non-renewable source of energy
(B) inexhaustible source of energy
(C) harnessed without depletion

(D) non-conventional source of energy
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Foll 1 Sehicyh HId g

(A) IR Ha Eid

(B) e el @

(C) fomm wwm g swwE BW I &
(D) - S @i

15. (i) An example of gaseous biofuel is

(A) methane (B) gasohol
(C) carbon dioxide (D) sulphur dioxide 1
T SRSy 1 3R 2
(A) (B) @
(C) e STR3TTaTES (D) TR STEATFES
Or / 3AYdr

(ii) Biomass is used as/in
(A) a source of construction material

(B) a source of heat and power generation
(C) a household waste material

(D) treatment of water

IR BT FHEA BT 2

(A) fmfor gmmft &% wa % €9 "

(B) @9 wa fagd a1 W % HId o €9 H
(C) = 3mfre ugrd % €9 W

(D) S i T%iE o

333/TUS/120 16 ARV



16. () CFL should be used in place of ordinary bulbs as they
(A) use less electricity
(B) are cheaper than ordinary bulbs
(C) are easily available

(D) are available in a standard shape 1

IR §od % LM W CFL 1 AT AT Mgy, F9ifh o
(A) wH fasrelt &1 @Ia wd &

(B) ®IURU sosi o U HE BN @

(C) smErt & firet Sima 2

(D) U HH® AR H 3Ty g
Or / JYdl

(i) An energy conservation plant should be developed for every household
as

(A) it is an environment friendly and economically sound action
(B) it will make use of appliances easy and convenient
(C) it will make an appliance last longer

(D) it will deplete the energy resource

TA$ T o [T Teh Foll TV Ao faepfa 61 9T =fgw, =it
(A) Ig T IHA W IS ®1 ¥ T%a UlkAT 7

(B) Ig IUHIUN 1 TN T 9 HaATE HL it

(C) g IUHWI ol @« THY b Iieh Wt

(D) I8 Sl o TETYH i T ot
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CORE MODULES
Figeh AtesA
OBJECTIVE QUESTIONS TYPE-II
TS T TRR-11
17. (@) Expand EIA.

(b) Name two important aspects of EIA. 1+1=2

(%) 30 3MMZo To & W W ey
(@) 30 3o To &% @ AWVl g forau|
Or / FYai

(¢) What is meant by environmental clearance?

(b) Name any two projects requiring environmental clearance.

(%) wafawefE TEfd &1 N1 Addd g7
(@) T @ A & am foafge S waiawfa sgafa smaws B R

18. Answer any six questions of the following : 1x6=6

(a) “Evaluation of EIA is possible only if EIA report is reliable.” What does
this statement mean?

(b) What are village forests?
(c) What is the aim of IPM?

(d) Mention two important agriculture inputs that are avoided in organic
farming.

(e) How do exotic species often wipe out the native species?
(f/’ How does acid rain affect leaves of plants?
(g9 Why should water be conserved for life?

(h) Fossil fuels are called non-renewable fuels. Why?

333/TUS/120 18 ARV



ﬁﬁ?ﬁ:mﬁﬁ%ﬁ'{?ﬂﬁﬁ:

() “Fo 3MMgo To I YeAiehd Al THT B 79 o 3130 o Nud fovaeia &1 38 HoA
T 1 FAeE 27

(@) o™ = =87

(7)) IPM 1 &1 LW 27

(7)) R weEl Y Tewi % I’ § wany = S9 $N 4 g@m 7@ fmar S
(3) facsft yefaat sreeR worfi sonfasi &1 8 FHET & S B e

(T) orcfa ant dei hir ufeet w F@ vl w22

(®) S & fofu S 1 geeror = fopan s =teu

(F) Sared a1 FAETHONE 99 a1 M1 8l w7

19. Answer any six questions of the following : 1x6=6
(a) Name a country that had a Forest Policy since 1984.
(b) Expand the abbreviation of IPR.
(c) Which is the most dangerous consequence of population explosion?

(d) Name a chemical compound which is obtained by anaerobic digestion
of manure.

(e) Name the most abundant group of animals recorded in India.

(f/’  What is the thinning of stratospheric ozone layer over the Antarctic
region known as?

(g) Name the major pollutant released from oil refineries.

(h) What is the name given to tropical deciduous forests found in the
State of Kerala in India?
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frefeigd & @ fpdl B: & I dfT

(%) Th o HT AW §A15C & o Afd 1984 ¥ o0 2|
(@) IPR @1 qU W faf@u)

(M) SEE fqeee w1 g TR wwWE eF-a 'Y

(@) T YRS qerd o1 W fefau 59 @re 6 s gfsean gra we fman ST gehar
2l

() wRa ¥ gaitus fefe fopn o wifori & @g w1 am fofau)

(F) U<Thicsh & & HW TAAUHSHANT A WA & Jdell B hl o1 Had &7
(®) 7@ fwEAtEl & fehem oo Y@ YEEE H AW Ty

(V) 9Rd H A TsF T 9T T T IOTehiCae™ quiard] o1 bl o€ 919 &7

20. Fill in the blanks by using the appropriate words given below (any four) :
1x4=4

(planktons, ex-situ, carcinogenic, carrying capacity, biofuel, work)

(@) Maximum pressure that the environment can withstand on account of
human activities is known as

(b) Energy may be defined as capacity to do
(c) Organic waste can be converted by bacteria into

(d) Conservation of plants and animals outside their natural habitat is
known as conservation.

(e) The cancer-causing agents are known as

(f) Microscopic floating organisms such as algae and protozoans are
called .

333/TUS/120 20 ARV



f= feu e wedi @ fRed W % fer wm wiw
(WTeh, TETHH, RGNS, T8 GAal, wd 364, HH)
(%) wHa fspamehermdl & uaterer i SAfehdy gaTd oM Al dHaT Bl HEd 7
(@) & Sl qHdr S Holl HEd &l
() famustt g Sfees sufie _ # wed W1 @ B
(9) dTedi Td WIPET % 3T TAPE % W GO ! HIEOT $hEd &
(§) HE H1 SR &4 I T bl had al
(F) T 9 geu S S Vet 9 WeNIH _ hEeld &

21. Write True or False (any three) : 1x3=3

(a) A protocol is an international agreement that stands on its own but
is linked to an existing convention.

(b) Sustainable development is the development that meets the needs of
the present compromising the ability of the future generations to meet
their own needs.

(c) Overexploitation is one major cause of environmental degradations.
(d) Nag champa tree can be used to produce biodiesel.

(e) Kinetic energy of wind is converted into electrical energy and used.

a8 A1 T T (@8 dE)

(%) TEhicl Th Vet STaiigia Teafd @ St gg 30 9 W @ Bt ¥ g 38T Wi
Tmed % Wy TEU gy ot g

(@) ot fosm w vEn faem 8 feg adam i staveshad g 8id) 8 3R S
difeal i srevEsmarst i ufd & emar 7@ S wd@ R

(1) 31T Qg JATaRoT o B 1 &I SR gl
(") 90 TFT % U i SRS 9 % T 39T S gehd Bl
(8) o I s St fogd ot # ufafda g s § @ St 21
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OPTIONAL MODULE—S8A

Jepfcds Hisdd—8A
( Water Resource Management )
(ST EeE YE e )
22. Water covers about three-quarters of the earth’s surface but how much of
it is freshwater? 1
geeft it Tag w1 RS TH-ANARE FA <BIed & foheq 3T fohaaT Wi JTetaw 91 27
Or / 37941

Name two sources of freshwater.

AT A % ar Fdl b AW TARgY|

23. Mention two main techniques of rainwater harvesting. 1
qui-Sfd & TGO HI q &I dhAlh qd1sy|
Or / 319491

Mention how in ancient times houses in Western Rajasthan conserved
water.

SdEu fop g wo § oA % ol § foRH YR Siel SR Bl |

24. What is gray water? 1
pRCICA i
Or / 37941
Mention two ways by which wastewater can be reused.

FafE F F T W F @ i S

OPTIONAL MODULE—S8B
Jepfoqs AisIa—8B
( Energy and Environment )

(Sl aT vRITERuT )

22. When growth of economy can withstand global competitiveness in terms of
energy? 1

HE HoAl H AYHTAEAT HI g o [ dARGeh iaeddi HI WEAT H AE THT AT ?
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Or / HY4l

Give one important impact of energy use on environment.

ST IUAFT o GATSHOT W TS Il Uk HEdYU UME HT 3Ig@ iU

23. What is bagasse? 1
s 1 R?
Or / 3FYar

Define methanogenesis.

MoAeHiE 6 gfam G

24. What is the cause of air becoming wind? 1
IR HT Yo § UfEfdd g 1 9T RO 7
Or / Fgdar

Why is wind energy called indirect solar energy?

YT ol ol YT TR FHoll T hal Sl &7

CORE MODULES
higeh AissA
SUBJECTIVE PART
fowafs e

25. What all is assessed in EIA? 2
30 3o Wo H Trm-ford <N &1 geamehd BT 287

26. How are forests getting denuded? 2
9 e yer gu Meq &1 ® 7
Or / 37YdT

Why is extinction of wildlife species on the rise?

gl S St &1 foed BT o Sgar S T 87
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27. Differentiate between rural and urban settlements on the basis of the
following factors : 2

(a) Occupation

(b) Population density

ffcRad i % MR W AT 3R T afeq@i § 3 Fqsy
() =IaEE (T-4)

(@) a1 o

28. This is an extensive, sandy region in North-West India and Eastern
Pakistan. Identify this region and name one plant species, one animal
species and one bird species found in this region. 2

Tz IW-ufvadfl ara 3R qoff wifhm § ue fawqa W@ #1847 ?1 3@ veenie 3R wm
& T U IH 917 Uek UTed Tfisfie, ek woft wfisfiet 3K wem wafi wisfis 1 9w wdsu)

29. Give two reasons to show the importance of conservation of biodiversity. 2

Sa fafaudr & @ &1 7gw sqW % g @ srer dfvg)

30. What are two strategies for effective management and conservation of
water? 2

Ul % FIA TEEH T w0 H q ghear @ 8o

31. Explain the following terms : 2
(a¢) Mutualism
(b) Commensalism
frerfeifea gl <l Wy
(%) wsfifern
(@) @i

Or / FYai

What is ecological succession? Name different types of ecological
successions.

qTfRATqehia ST R 37 3k fAfa TRl & M Sqsy)
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32. Explain the role of the following in agriculture as biofertilizers : 2
(a) Rhizobium
(b) Azospirillum
frfefea Sfas Ideni &1 HY § I FaRT -
(%) TsSIfom
(@) e
Or / 391

In the context of soil management, give two objectives of varietal
improvement of crops.

el yared % Hed § waal ot few # faem o % @ 2w @ #7

33. Define population. Why is it important to study population? Explain any
one point. List four major periods of human population growth. 4

SEE H g G SHEEI - w® i e g7 R uw fag @ awemsy
A TS g % 9R F&I 3TEdl ! gl S8
Or / 3FYar

What happens when cities grow? Explain the harmful effects of
urbanization on the following :

(a) Forests
(b) Socio-economic factors

(c) Availability of water

T ET 2 S Ve §ed 87 Mg W AE b gHhNh INE Farsy
(®) o W

(@) AMIRTR-3TT4H BRI T

() A H IUSAHAT T

34. What is meant by a biosphere reserve? What are its various zones? Give
the main functions of a biosphere reserve. 4

Joved AW &7 1 Fa 31 27 36 O &9 SH-§ 27 Sa¥ed ¥ &9 *
q&T R I § 7
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35. What do you understand by ecological efficiency? Why does the amount of
energy decrease at each subsequent trophic level? If autotrophs produce
100 cal of energy, how much energy will be available to herbivores and
carnivores? How can ecological efficiency be expressed? S

aitfefees et | 319 o1 GHSd &7 ShAAd] GINU % &R H eIl 1 @ F&] Bl 87
Ife WAl 100 FART HT IATET Hd 8, d JHEA Sd aUT WEEM Sid ol fhd-
ol 39y grfl 7 uTifefaes eetdr 1 ford YR =ah foham S Gehar 27

36. What is noise pollution? What are its sources? Give two effects of noise
pollution on humans. In which ways it can be controlled? S

Y TGO T ET 7 3Hh G H1 7 WHE] W A GG k@ g Gl gwent
form webr Freifra foran S wear 27

Or / FHYdar

With reference to water pollution, explain the following terms :
(a) Point source pollution

(b) Thermal pollution

(c) Eutrophication

(d) Sewage

(e) Non-point source pollution

A YUl < Hed # frfafed w1 wwemsw
(%) fog #ra s

(@) ardr g

(M) g

(F) e

() r-farg H g
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OPTIONAL MODULE—S8A
Jepfoqesh ATe@—8A
( Water Resource Management )

(T TE g )

37. Give two abstractive uses of water. 2

Al TIRITRt 9IS % @ IeEl S|

38. List any four reasons for growing water shortage problem in the world. 2
fova § Ja1 1 i A Fedl THET b DI TR HRU FAEY
Or / 379dT

List four benefits of rainwater harvesting.

INI-TA o TEIT 6 AR A «qisy|

39. What is watershed? Why is the water passing through the forests
relatively pure? 2

JTEW & FT BT 27 ol B ¥ I /T ATl Sl 3EThd I i il 87
Or / 3FYar

What do you understand by artificial recharge to groundwater? Mention
any two methods of artificial recharge in urban areas.

uftrsrer 3 FHm GIReT & 3w wwed §0 weh i Fhm gwRor % w5 @ a6
ST

OPTIONAL MODULE—8B
Iehfeush Ais[A—8B

( Energy and Environment )

(FT a2 gEteru )

37. What are photovoltaic cells? Give their two uses. 2

BIdEcesh Ul F1 8Id 8¢ 37 & JAN Sasy|
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38.

39.

333/TUS/120 [24V—450] 28 AR

Define geothermal energy. Give two examples from where this energy can
be trapped in India.

i et ! aRTivg i) 3t Igrew < & 8 WRa § g Sl ITH <l ST Fehdt
H

Or / 3¥a1
What is a fuel cell? What is the impact of use of fuel cells on environment?

S99 U 1 87 399 Aol b AN HT qEFENO T FT YHIG TSl 27

What do you understand by energy audit? What is the role of energy
auditing?

Sl S W AT FT GEd B ol SArd hl w1 fieRT 27
Or / a1

What do you understand by energy efficient new towns? How can such
towns be created?

Sl FHIC T TEW ¥ U AT THI &7 W IR fopw yepr Fffa fohw S weka €7

* Kk ok



